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?>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 20 =>O5DO 2000 7.  

7 878, =4 75<5?L=O5 GG4EF><, 6E>4OM<5 6 7D4=<FO >ED4==OE 7>= 

EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=, G>474==OE 6 ?G=>F5 1 

=4EF>OM57> ?D<>474. 

3. �<=<EF5DEF6G 7D44>EFD><F5?L=>= 45OF5?L=>EF< < D476<F<O 

47?><5D4F<= �<657>D>4E>>= >5?4EF<: 

3.1. �4?D46<FL 6 D<?<4? ?G5?<G=>-?D46>6>= >><?4=<< «$>E>444EFD» ?> 

�<657>D>4E>>= >5?4EF< E6545=<O > 7D4=<F4E >ED4==OE 7>= EGM5EF6GNM<E 

747>D4E?D545?<F5?L=OE E5F5=. 

3.2. �4?D46<FL >>?<N =4EF>OM57> ?D<>474 6 >D74= <5EF=>7> 

E4<>G?D46?5=<O %5D74GE>>7> <G=<F<?4?L=>7> >>DG74 �<657>D>4E>>= 

>5?4EF<. 

3.3. $47<5EF<FL =4EF>OM<= ?D<>47 =4 >D<F<4?L=>< E4=F5 <<=<EF5DEF64 

7D44>EFD><F5?L=>= 45OF5?L=>EF< < D476<F<O 47?><5D4F<= �<657>D>4E>>= 

>5?4EF< 6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F». 
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�D4=<FO >ED4==OE 7>= EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=, 
D4E?>?>65==OE 6 %5D74GE>>< <G=<F<?4?L=>< >>DG75 �<657>D>4E>>= 

>5?4EF< 
 

1. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>6O5 E5F< 4><4 
>?5D4F>D4 E. �<F4, =47=4G5=<5: 747>E=4565=<5 4><4 >?5D4F>D4, >444EFD>6O= 
=><5D: 52:45:0190302:975 

 

%6545=<O >5 >ED4==>= 7>=5 

7 ??  %4D4>F5D<EF<>< >ED4==>= 
7>=O 

�?<E4=<5 E4D4>F5D<EF<> 

1 2 3 

1. 
�5EF>?>?>65=<5 >ED4==>= 

7>=O 

�<657>D>4E>4O >5?4EFL, %5D74GE><= 
D4=>=, E. �<F4, G?. �5DE=OO, 13? 

2. �?>M44L >ED4==>= 7>=O, >6.< 2660 

 

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O 

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2 

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < 
�5F>4 >?D545?5=<O 
>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 424660.88 2296234.67 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

2 424659.62 2296230.87 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

3 424659.82 2296230.81 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 
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4 424658.79 2296227.21 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

5 424658.25 2296224.23 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

6 424650.48 2296196.40 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

7 424612.09 2296209.47 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

8 424586.38 2296141.84 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

9 424533.40 2295987.63 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

10 424476.84 2295796.87 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

11 424566.92 2295767.66 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

12 424558.36 2295729.11 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

13 424555.00 2295717.68 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

14 424553.53 2295713.95 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

15 424557.58 2295712.25 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

16 424562.24 2295728.10 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

17 424571.62 2295770.35 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

18 424481.78 2295799.47 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

19 424537.21 2295986.41 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

20 424590.14 2296140.49 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 
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21 424614.45 2296204.44 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

22 424653.20 2296191.25 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

23 424662.15 2296223.34 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

24 424662.69 2296226.30 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

25 424664.72 2296233.38 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

1 424660.88 2296234.67 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

 

2. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: E>>DG65=<5 - 747>6O5 E5F< 
4><4 >?5D4F>D4 747>D4E?D545?<F5?L=>= EF4=F<< «%5D74G», =47=4G5=<5: 
747>E=4565=<5 4><4 >?5D4F>D4, >444EFD>6O= =><5D: 52:45:0100703:37 

 

%6545=<O >5 >ED4==>= 7>=5 

7 ??  %4D4>F5D<EF<>< >ED4==>= 
7>=O 

�?<E4=<5 E4D4>F5D<EF<> 

1 2 3 

1. 
�5EF>?>?>65=<5 >ED4==>= 

7>=O 

�<657>D>4E>4O >5?4EFL, %5D74GE><= 
D4=>=, 7. %5D74G, G?. �5?5=4O, 4. 314 

2. �?>M44L >ED4==>= 7>=O, >6.< 4546 

 

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O 

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2 

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < 
�5F>4 >?D545?5=<O 
>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 
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1 443622.89 2308964.68 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

2 443613.48 2308961.67 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

3 443626.31 2308924.12 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

4 443662.55 2308849.76 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

5 443615.79 2308821.36 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

6 443470.56 2308733.30 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

7 443319.42 2308648.26 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

8 443171.22 2308546.67 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

9 443022.05 2308453.44 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

10 442897.63 2308375.68 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

11 442868.02 2308357.91 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

12 442844.90 2308391.62 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

13 442856.88 2308399.16 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

14 442851.47 2308407.92 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

15 442847.97 2308406.61 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

16 442849.37 2308402.87 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

17 442849.79 2308403.02 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 
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18 442851.40 2308400.43 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

19 442839.24 2308392.80 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

20 442866.86 2308352.55 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

21 442899.71 2308372.26 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

22 443024.17 2308450.05 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

23 443173.42 2308543.32 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

24 443321.54 2308644.86 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

25 443472.58 2308729.85 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

26 443617.87 2308817.95 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

27 443667.75 2308848.24 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

28 443630.02 2308925.66 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

29 443618.58 2308959.10 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

30 443624.11 2308960.87 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 

1 443622.89 2308964.68 
�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 
(>?D545?5=<=), 0.10 

- 
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